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Writeln(‘wellcome’’s report’);
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Write(A shr B);
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READ(X,Y); 123
READLN(Z); 321 543 125
X=123 , Y=321 , Z=543 .Y X=1,Y=2, 7=3 |
X=321, Y=543 , 7Z=125 .¥ X=123 , Y=321, 7Z=0 .Y
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VAR A:=6.2; .¥ VAR P:=Integer; .Y CONST A=6.2; .Y CONST P:=3.14; .
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VAR
A:BOOLEAN;
BEGIN
A:=5=10;
WRITE(A);
END.
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Writeln(X:4:2);
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VAR
X:INTEGER;
A,B:LONGINT;
BEGIN
A:=500;
B:=2000;
X:=A*B;
WRITE(X:5);
END.
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FOR I:=1 TO5DO
FOR J:=3 TO 5 DO
FOR K:=9 downto 5DO

Writeln(l+J+K);
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OR I:=1 TO 3 DO

BEGIN
WRITE(1);
FOR J=1 TO 2 DO
WRITE(‘A’);

END;
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FOR i:=1 TONDO
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FOR j:=1 TO i DO

A:=A+10;
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IF CH>="a’ AND CH<="2’ THEN

WRITE(CHR(ORD(CH)-ORD(‘a’)+ORD(‘A")))
ELSE

WRITE(CH);
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VAR X:Array[‘A’..2’] of ‘d’.."7’;

X['B']:="g’; .f X[‘A’]:=F; .Y X['K']:="1; .y X[Z]:='A; A
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